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 1. ��� �ก�!��" �"�ก������	#������� #�
��� � �!����" �$��ก��%&���������'�(�
��
'
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 2. �����
�ก*+�����
	���"�ก������	#������� 
���
���ก�������
��*��������� � �!����" �
$��ก��%&���������'�(�
��
'

��
�
���!
� ,-�������ก��$��!-ก��
��*��������� � �!����" �
$��ก��%&���������'�(�
��
'

��
�
���!
� �������	�-�" ���(�ก��ก��.���������
	��� ก�/����!��$
��������� �ก����%�����
����� (1��� �	  2�34�� �	.  2549 : 108) 

 

 %��� 
 

n  =  P (1 - P) Z2 
                                    e2 
 
 n B!� ������.��
�������
	���!�������กก��#����/ 
 P B!� %��%����
���� �ก�B*�C
ก�%!�������ก��� �ก� (0.50) 
 E B!� #��#���#*��
#*��
�!��	
���$��� (e = 0.05)  

 Z B!� #��!�������กก��
�E������%&��� Z C�	
�1�	#��2���!�� 
2

a   

    �����ก#������$#���
 ��
���� ,-����#��
!��ก�$ 1.96 
 
 B!�#��"�%���  
 

n  = 0.5 (1 G 0.5) 1.962 
        0.052 
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   = 0.9604   
    0.0025                   
 
   = 384.16    
         
  ��กก��B!�#��%������ก*��� ,-�����ก*+�����
	��� 384.16 �-�������$
�I� 385 #� 
   

 3. ก��%+��ก*+�����
	��� �������	!��ก��%+��ก*+�����
	���B$$
����� ��ก��� � �!����" �
$��ก��%&���������'�(�
��
'

��
�
���!
� 

 

�� ���� ����!�"!�ก������� 
 ก��%����B$$%
$&��
2��
" �"�ก������	#�������  �������	���
���ก�� ������ 
 1. 1-ก3�

ก%�� !J3K� B��#�� .*�กก�� B*��������	���� L !��
ก��	���
� 
 2. 1-ก3���(�ก��%����B$$%
$&������%
$��	ก�� (Check list), B$$%
$&������
%��������/#�� (Rating scale) B*�B$$%
$&���*�	
�E� (Open questionnaire) ".�#�
$#*+�
���&+���%�#4ก������	 
 3. ���B$$%
$&��!��%���� 
%�

����	4!����-ก3�'�#��2�(4����%
$#���
!��	����

 ��C#��%�����
�
���
.�B*�'�3�!��" � &������

%�
B�� �������	��������$��+� 
 4. ���B$$%
$&��!�����$��+�B*����ก��
 3  
%�
��� 
 �� 	� �_����%
$ &����
��

%�
B�� �������	��������$��+� 
 
#���
���
!��" �"�ก��
ก`$��$�����
��*#������� #�
B$$%
$&��%��.��$
ก`$��
��*��ก
��� � �!����" �$��ก��%&���������'�(�
��
'

��
�
���!
� �������	���%����
#���
���

�I�
B$$%
$&��'�	"��ก�
$B��#���#�� (Conceptual framework) ,-��B$��

ก���
�I� 4 �
� ������ 
 �
�!�� 1  
�I�B$$%
$&��
ก��	�ก�$�d���	%���$+##* 
�I�B$$%
$&������%
$��	ก�� 
(Check list) 

�
�!�� 2  
�I �B $ $ % 
 $ & � � 
 ก�� 	 � ก� $ 2 J �� ก � �� ก � � "  � $ �� ก � � � 
 � � � �  �  �                 

�I�B$$%
$&������%
$��	ก�� 
 �
�!�� 3  
�I�B$$%
$&��
ก��	�ก�$�d���	#���2-�2
"��
���� � ���
ก��$��ก���
�

���.���!�������� 
�I�B$$%
$&�������%��������/#�� (Rating scale) 5 ����$ 
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 ก������".�#�B��
�I���	��
���
ก/e4!��ก��.����������
�����  
 1 .��	&-� ��#���2-�2
"� "�����$��
	!��%+� 
 2 .��	&-� ��#���2-�2
"� "�����$��
	 
 3 .��	&-� ��#���2-�2
"� "�����$���ก*�� 
 4 .��	&-� ��#���2-�2
"� "�����$��ก 
 5 .��	&-� ��#���2-�2
"� "�����$��ก!��%+�  
 
 ���#�B��!�������.�#��
f*��	 B*�B�*�*C�	" �
ก/e4 (*���  %�		1 B*�
��#/�  %�		1.  
2536 : 100  )  
 

 
����'�# ���   =  
������ ���

�#�B������%+�#�B��%��%+ −
 

 

                  =  
5

15 −   
 

         =  0.8 
 

 #��
f*��	  1.00 G 1.79  B%�������#���2-�2
"� "�����$��
	!��%+� 
 #��
f*��	 1.80 G 2.59  B%�������#���2-�2
"� "�����$��
	 
             #��
f*��	  2.60 G 3.39 B%�������#���2-�2
"� "�����$���ก*�� 
 #��
f*��	  3.40 G 4.19  B%�������#���2-�2
"� "�����$��ก 
 #��
f*��	  4.20 G 5.00 B%�������#���2-�2
"� "�����$��ก!��%+� 
 
 �
�!�� 4  ��

%�
B�� 
�I�B$$%
$&���*�	
�E� (Open Questionnaire) 
 
 ก��!�*
�
#���
���
 
���
���%����B$$%
$&�� B*����B$$%
$&����!��ก��
����%
$#���&�ก��
�%�$��/4 �-������ Try Out ก�$��� � �!����" �$��ก��%&���������'�(�

��
'
�k�C�ก ���.���
���!
� ������ 30 #� ,-�����" �ก*+�����
	���#������� C�	%+��ก*+�����
	���   
B$$$��

�_ (Accidental sampling) ก�
�
ก`$��
��*���� B*���������
#���.4#��#���
 ��
����C�	" �
C��Bก��#
�2��
�
�4%��
�̀���� C�	" ���(��
� #�
�$�  
�*n� (Cronbachps Alpha) ���#��#���

 ��
���� 0.9169 
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ก��
ก#�������$"��%� 

 ก��
ก`$��$�����
��*#������� �������	
ก`$��$�����
��* �����
����� 
 1. ��
��*�q�'��� (Primary data) C�	
ก`$��$���B$$%
$&��!��ก�
ก
��	$��
	B*�� 
��กก*+�����
	���!����" �$��ก��%&���������'�(�
��
'

��
�
���!
� ".����#�$ 385 #� B*�������
����%
$#���%�$��/4�
���
��*ก�
������*�*��
��*���	#
�2��
�
�4  
 2. ��
��*!+��	'��� (Secondary data) 
�I���
��*!��
ก`$��$��� B*�#��#�������ก.���%�
 


ก%�� ������� �ก�� �������	!��
ก��	���
���ก
�̀$�,�4%����ก���%'�����	B.�� ���B*�
�̀$�,�4���� L 
!��
ก��	���
� 
 
ก��!�"&'�����
����()$"��%� 

 "�ก������	#��������������	���" ���(���
#���.4��
��* ���Bก� %&�����
	*� #��
f*��	 #��
$��	�
$�
����q�� ก��!�%
$%����q�� ก��
���	$
!�	$#��
f*��	���	%&��� t-test, F-test B*� LSD.  
 1. #����
	*� (Percentage) 
2��
" �
(�$�	#���&��B*���
	*��
���
��*!�������ก
B$$%
$&���
�!�� 1  �d���	%���$+##* B*��
�!�� 2  ก������$$��ก���
���� � � 
 2. #��
f*��	���
	��� (Sample mean) 
2��

(�$�	#��
f*��	�
���
��*!�������กB$$%
$&��
�
�!�� 3  #���2-�2
"��
���� � ���
ก��$��ก���
�
���.���!�������� 
 3. #��
$��	�
$�����q�� (Standard deviation) 
2��
" �
(�$�	#��
$��	�
$�����q���
�
��
��*!�������กB$$%
$&���
�!�� 3  #���2-�2
"��
���� � ���
ก��$��ก���
�
���.���!��
������ 
 4. #��%&��� Independent Sample : t-test " �
2��

���	$
!�	$#���B�ก������.��������$
#���2-�2
"��
���� � ���
ก��$��ก���
�
���.���!�������� ���B�ก����d���	%���$+##* ก�/�
���B��!���� 2 ก*+��  
 5. #��%&��� One-way ANOVA (F-test) " �
2��

���	$
!�	$#���B�ก������.��������$
#���2-�2
"��
���� � ���
ก��$��ก���
�
���.���!�������� ���B�ก����d���	%���$+##* B*�
���B�ก���ก������$$��ก���
���� � � ก�/����B��!���� 3 ก*+���-���� 
���
2$�������	%��#�_!��
%&��� �-�
���	$
!�	$���B�ก
�I���	#�����	��(� LSD.  
 


